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@FunctionalInterface
public interface Callable<V=
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package net.yscxy.callable;

import java.util.concurrent.Callable;
import java.util.concurrent.ExecutionException;
import java.util.concurrent.FutureTask;

/**
* @Author WangFuKun
* @create 2020/11/21 10:27
*/
public class CallableTest {
public static void main(String[] args) throws ExecutionException, InterruptedException {
/*  new Thread(new Runnable()).start();
new Thread(new FutureTask<V>());
new Thread(new FutureTask<V>(callbale)).start();

*/
MyThread myThread = new MyThread();
FutureTask futureTask = new FutureTask(myThread);
//&EBe3E
new Thread(futureTask, "A").start();
/NREIEEERFTED
System.out.printin(futureTask.get());
}
}

class MyThread implements Callable <String> {

@Override

public String call() throws Exception {
System.out.printIn("call()");
return "123456";

}
}
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2. BROIBEREST, =BEE
package net.yscxy.callable;

import java.util.concurrent.Callable;

import java.util.concurrent.ExecutionException;
import java.util.concurrent.FutureTask;

import java.util.concurrent.TimeUnit;

/**

* @Author WangFuKun

* @create 2020/11/21 10:27

*/

public class CallableTest {

public static void main(String[] args) throws ExecutionException, InterruptedException {

/*  new Thread(new Runnable()).start();
new Thread(new FutureTask<V>());
new Thread(new FutureTask<V>(callbale)).start();

*/
MyThread myThread = new MyThread();
FutureTask futureTask = new FutureTask(myThread);
VRCTiNES
new Thread(futureTask, "A").start();
new Thread(futureTask, "B").start();//&EREWETF, XS
//REIEERFTED
System.out.printIn(futureTask.get());
System.out.printIn(futureTask.get());

}
}

class MyThread implements Callable<String> {

@Override
public String call() throws Exception {
TimeUnit.SECONDS.sleep(2);
System.out.printIn("call()");
return "123456";
}
}

= FRYHHENSS

1.CountDownlatch
package net.yscxy.add;

import java.util.concurrent.CountDownLatch;
import java.util.concurrent.TimeUnit;

/**
* @Author WangFuKun
* @create 2020/11/21 15:01

*/
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public class CountDownLatchDemo {

public static void main(String[] args) throws InterruptedException {

/1B EL=26
CountDownlLatch downLatch = new CountDownLatch(6);
for(inti=1;i<=6;i++) {

new Thread(() -> {

System.out.printIn(Thread.currentThread().getName()+"-->Go Out");

downLatch.countDown();
}, String.valueOf(i)).start();
}
System.out.printin("&®R7T! ");
downlLatch.await();,//ZFHEEIRAE, RAEBETHIT
System.out.printin(" XA 2EIFZ&R");
}
}
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2.CyclicBarrier
package net.yscxy.add;

import java.util.concurrent.BrokenBarrierException;
import java.util.concurrent.CyclicBarrier;

/**

* @Author WangFuKun

* @create 2020/11/21 15:21

*/

/*

WS %7 SE] i) 2

* */

public class CyclicBarrierDemo {

public static void main(String[] args) {
CyclicBarrier cyclicBarrier = new CyclicBarrier(7, () -> {
System.out.printin("GIREID! ");

1

for(inti=1;i<=7;i++){
final int tmp = i;
new Thread(() -> {

System.out.printIn(Thread.currentThread().getName()

try {
cyclicBarrier.await();

} catch (InterruptedException e) {
e.printStackTrace();

} catch (BrokenBarrierException e) {
e.printStackTrace();

+ """ + tmp + "PEIR");
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}
},String.valueOf(i)).start();
}
}
}

3.Semaphore

semaphone (558
package net.yscxy.add;

import java.util.concurrent.Semaphore;
import java.util.concurrent.TimeUnit;

/**
* @Author WangFuKun
* @create 2020/11/21 15:34
*/
public class SemaphoreDemo {
public static void main(String[] args) {
/1528 E . EERIINEER, —RIRRAIEHER
Semaphore semaphore = new Semaphore(3);
for(inti=1,i<=6;i++){
new Thread(() -> {
try {
//15%
semaphore.acquire();
System.out.printin(Thread.currentThread().getName() + "{8% 7 ZE{1");
TimeUnit.SECONDS .sleep(2);
System.out.printin(Thread.currentThread().getName() + "BFEAI");
} catch (InterruptedException e) {
e.printStackTrace();
} finally {
//FE
semaphore.release();

}

}, String.valueOf(i)).start();
} }
}
semaphore.acquire() k18, RISBEHRH T, SFHERERUIL!
semaphore.release(B¥, SIERIESERN+1, ARIREESFRIZIE
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